

نام و نام خانوادگی: کلاس: ۱۹ پاسنامه تشریحی تکلیف شماره ۱۹

$$\alpha, \beta \quad \quad \quad \alpha^2 - \alpha + \varepsilon = 0$$

$$\begin{aligned} r = \frac{\varepsilon}{\beta} \rightarrow \alpha + \beta \alpha &= \frac{\varepsilon}{\beta} \rightarrow \beta \alpha^2 = \frac{\varepsilon}{\beta} \rightarrow \alpha^2 = \frac{\varepsilon}{\beta} \rightarrow \alpha = \frac{\sqrt{\varepsilon}}{\beta}, \beta = \sqrt{\varepsilon} \\ \beta \alpha &= -\frac{\varepsilon}{\beta}, \beta \alpha = -\sqrt{\varepsilon} \\ s = \frac{\alpha}{\beta} \rightarrow \frac{\alpha}{\beta} &= \sqrt{\varepsilon} + \frac{\sqrt{\varepsilon}}{\beta} = \frac{1}{\beta} \\ \beta &= -\sqrt{\varepsilon} - \frac{\sqrt{\varepsilon}}{\beta} = -\frac{1}{\beta} \end{aligned}$$

$$\rightarrow \frac{1}{\beta} - (-\frac{1}{\beta}) = \frac{2}{\beta} = 1 \Rightarrow \beta = 2$$

$$\begin{aligned} \sqrt{\frac{1}{\alpha}} + \sqrt{\frac{1}{\beta}} &= \alpha \quad \xrightarrow{\text{مربع}} \quad \frac{1}{\alpha} + \frac{1}{\beta} + 2\sqrt{\frac{1}{\alpha\beta}} = \alpha^2 \rightarrow \frac{1}{\alpha} + \frac{1}{\beta} + 2 = \alpha^2 \\ \frac{m+\varepsilon}{\beta} \rightarrow \frac{\alpha+\beta}{\alpha\beta} &= 1^3 \rightarrow \frac{m+\varepsilon}{\beta} = 1^3 \rightarrow m+\varepsilon = 1^3 \Rightarrow m = -1 \end{aligned}$$

$$\beta \alpha^2 - (m+\varepsilon)\alpha = 0 \rightarrow \beta \alpha^2 - \alpha = 0 \rightarrow \alpha(\beta \alpha - 1) = 0 \rightarrow \beta \alpha = 1 \rightarrow \alpha = \frac{1}{\beta}$$

$$s = 1, r = -1 \rightarrow \alpha^2 - \alpha - 1 = 0 \rightarrow (\alpha+1)(\alpha-1) = 0 \rightarrow \alpha = -1 \text{ or } \alpha = 1$$

$$\begin{aligned} \text{Eqn } \beta \alpha^2 - \alpha &= 0 \rightarrow \beta \alpha^2 - \alpha = 0 \rightarrow \alpha(\beta \alpha - 1) = 0 \rightarrow \beta \alpha = 1 \rightarrow \alpha = \frac{1}{\beta} \\ \beta &= -1 \rightarrow k = -1 \end{aligned}$$

$$\begin{aligned} \alpha^2 + 4\alpha + \varepsilon &= 0 \rightarrow \alpha + \beta = -4 \rightarrow \alpha + \beta = -4 \rightarrow \alpha + \beta = -4 \rightarrow \alpha + \beta = -4 \\ \beta \alpha^2 + \beta \alpha &= \beta(\alpha^2 + \alpha) = \beta(-4 - \alpha) = -4\beta - \beta\alpha = -4\beta - \varepsilon \\ (\beta - \alpha)^2 &= (\alpha + \beta)^2 - 4\alpha\beta = 16 - 4\varepsilon \rightarrow \beta - \alpha = \sqrt{16 - 4\varepsilon} \rightarrow \alpha = \frac{-4 - \sqrt{16 - 4\varepsilon}}{2} \\ \beta &= -4 - \alpha = -4 - \frac{-4 - \sqrt{16 - 4\varepsilon}}{2} = \frac{-8 + 4 + \sqrt{16 - 4\varepsilon}}{2} = \frac{-4 + \sqrt{16 - 4\varepsilon}}{2} \end{aligned}$$

$$90 - 50 = 40 \rightarrow \alpha = 1$$

$$\alpha^2 = 1 \rightarrow 1^2 - 4 + \varepsilon = 0 \rightarrow \varepsilon = 3 \rightarrow \alpha = \sqrt{3} \rightarrow \beta = -4 - \alpha = -4 - \sqrt{3}$$

$$\begin{aligned} \alpha^2 &= \frac{1 + \sqrt{49}}{2} \rightarrow \alpha = \frac{1 + \sqrt{49}}{2} \rightarrow s = 0 \text{ (مربع)} \\ r &= \frac{1 + \sqrt{49}}{2} \rightarrow r = \frac{1 + \sqrt{49}}{2} \rightarrow r = \frac{1 + \sqrt{49}}{2} \rightarrow r = \frac{1 + \sqrt{49}}{2} \end{aligned}$$

$Pn^p - an + b = 0 \rightarrow P\alpha^p + a\alpha - 4 = 0$ $\alpha + \frac{1}{p}, \beta + \frac{1}{p}$ $S = \alpha + \beta + 1 = \frac{a}{p}$ $\rightarrow \alpha + \beta = \frac{a-p}{p} \rightarrow P = \frac{b}{p} \rightarrow b = \left(\frac{10}{p}\right)$	$\alpha + \beta = -\frac{a}{Pa} = -\frac{1}{p}$ $\alpha \times \beta = \frac{-4}{Pa} = -\frac{1}{p}$ $S = \alpha + \beta = \frac{a-p}{p} = -\frac{1}{p} \Rightarrow \alpha = 1$ $P = \left(\alpha + \frac{1}{p}\right)\left(\beta + \frac{1}{p}\right)$ $\left[\frac{ab}{\varepsilon}\right] = \left[-\frac{10}{\varepsilon}\right] = [-1-1] = (-2)$	6
$m_1 - m_2 = \frac{\sqrt{\Delta}}{a}$ $D = a^2 + \varepsilon ab \rightarrow m_1 - m_2 = \frac{\sqrt{a^2 + \varepsilon ab}}{ a } = \sqrt{1 + \frac{\varepsilon b}{a}}$ $\varepsilon ab^2 + Pa^2 - Pb = 1V \xrightarrow{\div P} Pb^2 + a^2 - b = 1V/P$ $\vee (a+Pb)^2 - Pb^2 + b = 1V/P \rightarrow \frac{\varepsilon b}{a} > \frac{1}{\varepsilon} \rightarrow m_1 - m_2 = \sqrt{1 + \frac{1}{\varepsilon}} = \sqrt{a/p}$	$a + \varepsilon ab = a^2 + \varepsilon b^2 - \varepsilon b^2 + \varepsilon ab$	7
$n^p - (a+1)n + a = 0 \rightarrow S = Pn + P = a+1$ $n, n+P \rightarrow P = a = n^p \times Pn$ $n^p - (Pa+1)n + b = 0 \rightarrow a = P \rightarrow n^p - b n + b = 0$ $S = Pk + (Pk+P) = b \rightarrow \varepsilon k + P = b \rightarrow k = P$	$Pn + P = n^p + Pn + 1 \rightarrow n^p = 1$ $n = 1 \times P = P \quad n = \frac{1}{P}$ $b = \varepsilon \times P = P\varepsilon$ $b = \varepsilon \times P = P\varepsilon$	8
$\alpha^p + \beta^p \rightarrow \alpha + \beta = 1$ $\rightarrow \alpha P = -1 - m^p$ $\rightarrow P + Pm^p = \alpha^p + \beta^p \xrightarrow{m=1} \alpha^p + \beta^p = P$	$(\alpha + \beta)^p = \alpha^p + \beta^p + P\alpha\beta = 1$ $\alpha^p + \beta^p = 1 - P\alpha\beta \rightarrow 1 + P(1+m)^p$	9
$n_5 = \frac{P(-d)}{P} = -1 \rightarrow y = k(n+1) + 1$ $\alpha^p + \beta^p = (-1-d)^p + (-1+d)^p = P(1+d)^p \rightarrow P(1+d)^p = d \rightarrow d = \frac{P}{P}$ $o = k(d)^p + 1 \rightarrow k = -P/P \rightarrow y = -P/P(n+1)^p + 1$ $y = -\frac{P}{P}(1) + 1 = \left(\frac{1}{P}\right)$	$a = -1 - d \rightarrow b = -1 + d$ $y = 0 \leftarrow \text{no solution}$	10